REPUBLIC OF THE PHILIPPINES Department Of Health

G F

WICH

WIPB

National Center for Mental Health

NOTICE OF AWARD

January 18, 2024

MEDASIA MEDICAL PRODUCTS CORPORATION

Rm. 412, Web-Jet Bldg., #64 Quezon Ave., Quezon City

Tel No.: +632 8742-9591; 0999-8811986

Email: marissa@medasia.com.ph

malyn@medasia.com.ph

Sir / Madam:

Please be advised that based on the results of the **PUBLIC BIDDING** conducted by the National Center for Mental Health for the **SUPPLY AND DELIVERY OF MEDICAL SUPPLIES CY 2024**, the following item(s) are hereby awarded to your company:

NO.	QTY	UNIT	ITEM/SPECIFICATIONS	UNIT PRICE	TOTAL PRICE
24	5,400	piece	Cotton Tip Applicator, sterile, individually packed x 2 pcs. (with at least 24 months expiration). Country of origin: China	0.95	5,130.00
58	700	roll	Gauze, surgical bolt, white, 36 inches x 50 yards 2ply, 28 x 24 mesh, with x-ray detectable line. Country of origin: China	565.00	395,500.00
96	50	přece	Mucus Specimen Traps - use to collect specimen by using any suction pump device. The container has clearly marked measurement gradations that show collective amounts trapped within the 40cc to 80cc plastic container. It features a disposable adapter that prevents contamination and the screw on cap helps maintain a strile pouring surface. It comes with a 5 inch, non-latex, heavy wall tubing. The tubing will accommodate all suction catheters to become a universal trap. (with at least 24 months expiration). Country of origin: China	25.00	1,250.00
122	2,000	pad	Sterile Gauze Pads, 4x4 individually packed Country of origin: China	1.78	3,560.00
126	30	piece	Suction catheter, Fr. 5 with control & cap, transparent, individually pack, sterilized by EO gas, non-toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	3.60	108.00

"There is no Health without Mental Health"





127	30	piece	Suction catheter, Fr. 8 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	3.60	108.00
128	50	piece	Suction catheter, Fr. 12 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	3.60	180.00
129	300	plece	Suction catheter, Fr. 14 with control & cap, transparent, individually pack, sterilized by EO gas, non-toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	3.60	1,080.00
130	500	piece	Suction catheter, Fr. 16 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	3.60	1,800.00
131	100	piece	Suction catheter, Fr. 18 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	3.60	360.00
143	10,600	piece	Syringes, disposable, INSULIN (1cc), with needle G.30, slip tip, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with at least 24 months expiration). G30 x 5/16 Country of origin: China	1.45	15,370.00
144	500	roll	Thermal Paper 80mm - Electrocardiograph (ECG) Thermal Paper, 80x20mm – 3.5 inches x 65.6 feet Country of origin: China	68.00	34,000.00
156	72	box	Arterial Blood Gas Test Cartridge BG3 (EDAN i15) (25pcs/pack) Country of origin: China	6,800.00	489,600.00
158	1,800	plece	Pre-heparinized Arterial Blood Gas 3cc syringe Country of origin: China	65.00	117,000.00
298	300	piece	Surgical Blade #10. Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration). Country of origin: China	2.28	684.00
299	300	piece	Surgical Blade #11. Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration). Country of origin: China	2.28	684.00

	TOTAL AMOUNT		₱1,183,837.80		
366	3,000	strip	Test for residual peroxide in rinse water, 100 strips per bottle, with shelf life of 18 months, Country of origin: China	8.00	24,000.00
365	8,000	strip	Potency Strips, test for potency of peracetic acid in dialyzer reuse, 100 strips per bottle, with shelf life of 18 months. Country of origin: China	8.00	64,000.00
338	10	piece	Anti Embolic Stockings Thigh High (Large) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings Country of origin: China	688.00	6,880.00
337	20	piece	Anti Embolic Stockings Thigh High (Medium) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings Country of origin: China	688.00	13,760.00
336	10	plece	Anti Embolic Stockings Thigh High (Small) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings Country of origin: China	688.00	6,880.00
332	235	piece	Surgical Blade #12 (for Dental and ENT Service use) Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration). Country of origin: China	2.28	535.80
301	300	plece	Surgical Blade #20. Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration). Country of origin: China	2.28	684.00
300	300	piece	Surgical Blade #15. Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration). Country of origin: China	2.28	684.00

You are hereby required to submit the following within ten (10) calendar days:

 Notarized Contract Agreement Form (Legal Size) for the Public Bidding for the SUPPLY AND DELIVERY OF MEDICAL SUPPLIES CY 2024

NOTE: The signatory shall be NOEL V. REYES, MD, FPPA, MMHoA, MEDICAL CENTER CHIEF II; and

- Notarized Performance Securing Declaration; or
- Performance Security in any forms and amount stipulated below:

Α.	Cash or Cashier's / Manager's Check Bank Guarantee	Five Percent (5%) of the Total Contract Price
В.	Surety Bond callable upon demand issued by a surety or insurance company duly certified by Insurance Commission / GSIS	Thirty Percent (30%) of the Total Contract Price

NOTE: <u>Failure to provide any of the aforementioned requirements within ten (10) calendar days shall</u> constitute sufficient grounds for cancellation of this Award and forfeiture of the Bid Security.

Truly yours,

NOEL V. REYES, MD, FPPA, MMHoA

Medical Center Chief II

CONFORME:

Authorized Representative (Name & Signature)

1/3/1/24